Chapter - 6

Fractions

Ex 6.1

Question 1.
Write the fraction shown by the shaded parts.

(i)

Answer:
3/9



Question 2.
Write the fractions for the following and find the numerator and the
denominator.

(i) Sheeki got 12 marks out of 20 marks in science.

Answer:
12/20; Numerator = 12; Denominator = 20

(ii) Six fruits are rotten out of forty fruits in a basket.

Answer:
6/40; Numerator = 6; Denominator = 40

(iii) In a colony of 50 houses. 17 houses are not occupied.

Answer:
17/50; Numerator = 17; Denominator = 50

Question 3.

Find out which is greater in the following fractions.
5D 7

(i) 15 and 15

sy 22 17

(i) 45 and B

11 27
(iil) =5 and g

Answer:

o 5 7
(l}ﬁ;—mdﬁ
5<7

5 7
12 < 12

7
13 Is greater

L 22 17
(= and I8

22 > 17



22 17
18 © 18

22

15 Is greater.

e 11 27
(if) =5 and 6
11 <27

11 27
56 < 56
27
56

11 < 27 is greater

Question 4.
Which is smaller in the following fraction?

. 10 21
() 25 and o
. 31 15
(if) 57 and 37

Answer:

10 21
(i) yo) and o
10 < 21

10 21

Fo BT

10 -
B s smaller

(ii)%andé—?
15 < 31

31 15
AR

15 -
3= IS smaller

Ex 6.2

Question 1.
Write the suitable number in the box.



9 9x2 18

ﬁ=11><2-_




Answer:

14 14+2 7
26 26+2 [3]
(vi)

.8

4 " 16
Answer:

a1 a2
16 16:4 4
(vii)

1 _ 7
HEFT)
Answer

7 . 7+7 -]
28 282774
(viii)

.15

5 2

Answer:

15 15:5 [3]
25 25l 5 5
Question 2.

Find an equivalent fraction with denominator 18 for each of the following
fractions

12 4 2 75
27376292903



Answer:

1 1x9 9
2 7 2x9 18
2 _ 2x6 __ 12
3 3x6 18
4 _ 3Ix4 _ 12
6  3x6 18
2 _ 2x2 _ 4
9  9x2 18
T _ Tx2 __ 14
9  9x2 18
5 _ hbhx6 __ 30
3 3x6 18
Question 3.

Find an equivalent fraction with denominator 5 for each of the following
fractions

6 10 12 6 21
157 257 30?7 107 35

Answer:

6 63 _ 2
15 ~ 153 5
10 _ 105 __ 2
25 2525 B
12 _ 12+6 _ 2
30 3026 5
6 _ 62 _ 3
10 — 10=2 5
21 _ 21=7 __ 3
35  35=7 5
Ex 6.3

Question 1.

Convert the following into like fractions
4 1 3
(1) 18



Answer:
As 8 is twice 4, make 8 the common denominator.
1 1x2 2

4 4x2 8
Thus % and % are the required like fractions.

(i) )7

Answer:

The number 35 is a multiple of both 7 and 5
2 __ 2x7 __ 14

5 557 35

1 Ix5 __ 5

7 Txb 35

Therefore % and % are the required like fraction
N T

(i) =, 15

Answer:

As 10 is twice 5, make 10 the common denominator

Thus % and 1—?;] are the required like fractions.

201
(V) =5 §
Answer:
The number 42 is a multiple of both 7 and 6 so make 42 the common
denominator.

2 2x6 _ 12
7 <6 42
1 _Ix7 _ 7
6  6x7 42
Therefore % and % are the required like fractions.

| 0o

(V) %1



Answer:
The number 12 is a multiple of both 3 and 4 so make 12 the common

denominator
1 _ 1x4 _ 4
37 3x4 T 12
3 __ 3x3 _ 9
17 Ax3 T 12
Therefore 1;42 and — g are the required like fractions.
5 4
VI) =4 &
( ) 6?5

Answer:
The number 30 is a multiple of both 6 and 5, so make 30 the common
denominator.

5 _ 5x5 __ 25

6 — 6x5 30

4 _ 4x6 _ 24

5 5x6 30

Therefore % and == 24 are the required like fractions.
(Vi) g5 =

Answer:

The number 56 is a multiple of both 8 and 7. so make 56 the common
denominator.
1 1x7 _ 7
8  8x7 56
3 3x8 _ 24
7T  Tx8 56
7

Therefore & and & 24 are the required like fractions.

v 1 4
(viii) 379

Answer:
Multiples of 6 : 6, 12, 18, 24, 30, 36, ......
Multiples of 9: 9, 18, 27, 36, 45, .......



Smallest common multiple 18

1_1x3 _ 3

5 6x3 18

4 _ 4x2 _ 8

9 — 9x2 18

There fore % and 1—88 are the required like fractions.
Ex 6.4

Question 1.

Write the proper symbol from <, >, or = in the box

h — b
Answer:
3
3 5 2
5 5
2 1
(g —3
Answer:
2 1
8 3
2 10
(it 11 11
Answer
2 10
T — 11
-3 10
(v) 15 30
Answer
3 3x2 __ 6
15 152 ~— 30
6 10
3/ —— 30
3 10
5 —— 30



3 3xT 21
8 T 8xT7 56
3 _ 3x8 _ 24
7 Tx8 56
2




7 9
Answer:
3 _ 3x9 __ 27
T T Tx9 T 63
5 __ 5x7 __ 35
9  O9x7 63
27 35
3 —— 63
4 1
X7 —3%
Answer:
4 4x5 20
11 11x5 55
1 _ 1x11 _ 11
5  5x11 55
20 11
55 —=— 55
4 1
11— 35
Ex 6.5
Question 1.
Add the following fractions
o 1 3
- 4+ =
() £ + %
Answer:
1,3 43 _ 4
5] 5] H 5
1 3
(i) = + =
Answer:
1 3 1+3 4
TtT T 7 T



(iil) = + =

12 12
Answer:

5 2 542
Tt o1
- 3 7

(iv)g + 3

Answer:

3 7 3+7

R i
2 3

(V) 71

Answer:

2 3 243 _
15 15~ 15
2 1 3
= — + =
Vi) = + 5 + %

Answer
7 7 7
3 5

(vii) 10 + 0 +

Answer:

3 5] _
ot 10—

ey 2 1
(viii) s+t 3
Answer:

_ 7

12




A3 2

)3 +3

Answer:

3 2 _ 342 __ 5

STsT 8 — %
Question 2.

Mother gave 2/8 of guava to Meena and 3/8 of guava to Geetha. How many
parts of the guava did she give them altogether?

Answer:

Meena get = 3

Geeta get = 3

8
Sum=g+%=

2
8 8

Question 3.

The girls of Std V cleaned 3/5 of a field, while the boys cleaned 1/5 part of the
field. What part of the field was cleaned altogether?

Answer:

Girls cleaned =

Boys cleaned =

_ 3 1 _
Sum = = + ¢ =

| — ot e

4
5

Ex 6.6

Question 1.
Subtract the following.

041

Answer:

41 _41_3
o 7

7 7 T



[a—
=
H
:::‘m

Answer:

3 _ 3
10~ 10

(vii) 15 -

Answer:
T _ 2

12 12

—
w|‘°

T
(]

—
'—l
[a—
|_||r"-“-

N
1=

e

wn
|
o

SIS

ool —

o

—
m“"“



.. 8 9
(viil) i€ — 18

Answer:
] 2 82
1

15 15

82 _ 6
5 15
Question 2.

5/10 of a wall is to be painted. Ramu painted 2/10 of it.
How much more is to be painted?

Answer:
- _ 5
To be painted = 75

2
10

Ramu painted =
5-2

5 _ 2 _ — 3

Difference = 10 0 10 10

Ex 6.7

Question 1.
Multiply the following

(i) 1/7 X 4

Answer:
1x4 E
T T

er 3
(11) g X 5
Answer:

3xh __ 15

8 ~ 8
ey 7
(1i1) T % 6
Answer:

Tx6 __ 42
T~ 11



.y 21
(iv) 0 X 2
Answer:

21x2 _ 42
50— 50

(V) 5 x 3

Answer:
15x3 __ 45

32 32

Question 2.
John has 300 ml of water in a glass and he drinks 2/3ml of water. How many
ml of water does he drink?

Answer:
Water in glass = 300 ml

9 2 _ 2x300 __ 600
gmlofwater_gx?;DO- 5 — 3

= 200

200
3)600
6
0

Ex 6.8

Question 1.
Write the following decimals in words

(i) 0.5 =

Answer:
Zero point five

(ii) 0.8 =



Answer:
Zero point eight
(iii) 3.5 =

Answer:
Three point five
(iv) 6.9 =

Answer:
Six point five

Question 2.
Express the following fractions as decimals.

(i) 4/10

Answer:
4/10=0.4

(i) 12/10

Answer:
12/10=1.2

(iii) 23/10

Answer:
23/10=2.3

(iv) 146/10

Answer:
146/10 = 14.6

Question 3.
Express the following decimals as fractions.

(i) 38.9



Answer:
38.9 =389/10

(ii) 9.8

Answer:
9.8 =98/10

(iii) 10.4

Answer:
10.4 =104/10

(iv) 0.8

Answer:
0.8=8/10

InText Questions

Try This (Text Book Page No. 47)

Question 1.
Represent the crossed-out part as a fraction.

Answer:
2/5

Question 2.
Represent the figures that are outside the circle as a fraction.

@,

[ ]




Answer:
2/5

Try This (Text Book Page No. 48)
(i) In3/7, ___is the numerator and ___is the denominator.

Answer:
3,7

(ii)) In6/10, ___is the numerator and ___is the denominator.

Answer:
6,10



